g9.6b.1 09.6b.2 09.6b.3 09.6b.1 09.6b.2 g9.6b.3
a)54+6-10x5= 10|a)9-4-1x2= 3la)16+6-3 x4 = 10 a)54+6-10x5= 10|a)9-4-1x2= 3la)16+6-3x4= 10
b)10+8x3-8= 26|b)13+10x6-3= 70|b)5+8x4-2= 35 b)10+8x3-8= 26|b)13+10x6-3= 70|b)5+8x4-2= 35
C)7x2+7-4= 17|c)10x1+9-2= 17|c)9x1+10-3= 16 C)7x2+7-4= 17|c)10x1+9-2= 17|c)9x1+10-3 = 16
d)9x5-1x6= 39|d)10x7-4x4= 54|d)5x8-5x2= 30 d)9x5-1x6= 39|d)10x7-4x4= 54|d)5x8-5x2= 30
e)7x3+2x10= 41|e)7x7+5x10= 99|e)9x4+1x1= 37 e)7x3+2x10= 41|le)7x7+5x10= 99(e)9x4+1x1= 37
f)61+1-6x9= 8|f)23+6-4x6= 5|1f)562+10-6x10= 2 f)61+1-6x9= 8|f)23+6-4x6= 5|f)52+10-6x10= 2
q)3+10x9-2= 91|g)10+5x3-4= 21|9g)14+3x8-6= 32 q)3+10x9-2= 91|g)10+5x3-4= 21|g)14+3x8-6= 32
h)7x7+8-3= 54lh)6x2+8-5= 15(h) 11 x56+9-7= 57 h)7x7+8-3= 54lh)6x2+8-5= 15|h) 11 x5+9-7= 57
i)6x4-5x1= 15(i)9x8-9x1= 63li) 7x9-1x7= 56 i)6x4-5x1= 15(i)9x8-9x1= 63[i)) 7x9-1x7= 56
j)6x9+4x7= 82]j)2x3+7x8= 62]j)) 7x9+2x5= 73 j)6x9+4x7= 82]j))2x3+7x8= 62]j)) 7x9+2x5= 73

09.6b.4 99.6b.5 09.6b.6 99.6b.4 09.6b.5 09.6b.6
a)29+4-9x3= 6|la)56+8-7x9= 11a)13+3-1x 7= 9 a)29+4-9x3= 6la)56+8-7x9= 11a)13+3-1x7= 9
b)7+5x8-4= 43|b)17+10x3-7= 40(b)17+10x5-10= 57 b)7+5x8-4= 43|b)17+10x3-7= 40(b)17+10x5-10= 57
c)10x10+8-2= 106|c)9x7+5-4= 64|c)9x9+10-8= 83 c)10x10+8-2= 106|c)9x7+5-4= 64|c)9x9+10-8= 83
d)7x10-1x2= 68({d)4x8-8x2= 16|d) 7x6-6x5= 12 d)7x10-1x2= 68|(d)4x8-8x2= 16|d) 7x6-6x5= 12
e)Ix3+1x9= 36|e)4x3+8x5= 52|e)8x8+6x2= 76 e)Ix3+1x9= 36|e)4x3+8x5= 52|1e)8x8+6x2= 76
f)14+1-4x2= 71)18+4-2x10= 2|1 )14+4-2x4= 10 f)14+1-4x2= 71)18+4-2x10= 2|)14+4-2x4= 10
a)3+8x5-1= 42|10)4+9x9-1= 84|9)13+2x9-9= 22 a)3+8x565-1= 42|10)4+9x9-1= 84|0)13+2x9-9= 22
h)10x7+6-6= 70(h)12x1+6-3= 15|h)5x1+5-3= 7 h)10x7+6-6= 70(h)12x1+6-3= 15|h)5x1+5-3= 7
i)5x6-3x5= 15]i)10x6-7x6 = 18[i)3x7-4x1= 17 i)5x6-3x56= 15]i)10x6-7x6 = 18li)3x7-4x1= 17
)10x9+10x 7= 160[(j)6x5+1x2= 32]j))5x6+8x3= 54 j)10x9+10x 7= 160{j)6x5+1x2= 32]j))5x6+8x3= 54
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g9.6b.7 g9.6b.8 g9.6b.9 g9.6b.7 g9.6b.8 g9.6b.9
a)31+9-3x10= 10|a)12+9-6x2= 9la)18+1-5x2= 9 a)31+9-3x10= 10|a)12+9-6x2= 9(a)18+1-5x2= 9
b)9+6x5-3= 36|b)11+3x10-8= 33|b)17+4x9-9= 44 b)9+6x5-3= 36|b)11+3x10-8= 33|b)17+4x9-9= 44
c)3x5+2-1= 16|c)5x4+5-3= 22|c) 7x10+6-4= 72 c)3x5+2-1= 16|c)5x4+5-3= 22|c) 7x10+6-4= 72
d)10x5-3x4= 38|d)7x2-1x1= 13(d)10x7-1x5= 65 d)10x5-3x4= 38|d)7x2-1x1= 13|d)10x7-1x5= 65
e)Ix2+7x8= 741€)8x10+9x10= 170|le)1x6+8x3 = 30 e)Ix2+7x8= 741€)8x10+9x10= 170|e)1x6+8x3 = 30
f)60+3-8x7= 7|1f)68+5-8x9= 11f)101+3-10x10 4 f)60+3-8x 7= 7|1f)68+5-8x9= 11101 +3-10x10 4
a)11+8x9-6= 77(9)11+1x3-6= 8lg)11+9x4-6= 41 a)11+8x9-6= 77(9)11+1x3-6= 8lg)11+9x4-6= 41
h)12x7+9-4= 891h)12x6+5-2= 75|h)3x5+7-1= 21 h)12x7+9-4= 891h)12x6+5-2= 75(h)3x5+7-1= 21
i)1x10-6x1= 4li)7Tx7-4x7= 211i) 7x8-2x8= 40 i)1x10-6x1= 4(\)7x7-4x7= 21|i)7x8-2x8= 40
J)4x1+2x4= 12[j)6x8+4x4= 64]j)6x2+3x7= 33 J)4x1+2x4= 12]j)6x8+4x4= 64]j)6x2+3x7= 33

09.6b.10 g9.6b.11 g9.6b.12 g9.6b.10 g9.6b.11 g9.6b.12
a)85+5-8x10= 10]|]a)4+5-1x8= 11a)15+1-1x6= 10 a)85+5-8x10= 10|a)4+5-1x8= 11a)15+1-1x6= 10
b)5+7x9-2= 66|b)6+9x9-2= 85|b)4+3x10-3= 31 b)5+7x9-2= 66|b)6+9x9-2= 85|b)4+3x10-3= 31
c)12x8+4-3= 97|c)11x8+3-1= 90|c)6x5+4-2= 32 c)12x8+4-3= 97|c)11x8+3-1= 90|c)6x5+4-2= 32
d)4x7-2x3= 22|d)2x9-9x2= 0ld)7x8-65x7= 21 d)4x7-2x3= 22|d)2x9-9x2= 0ld)7x8-5x7= 21
e)4x4+6x5= 46(e)8x4+4x6= 56|le)9x2+8x7= 74 e)4x4+6x5= 46(e)8x4+4x6= 56|e)9x2+8x7= 74
f)29+6-10x3 = 5|f)27+3-6x4= 6(f)52+10-6x10= 2 f)29+6-10x3= 5|[f)27+3-6x4= 6|f)52+10-6x10= 2
q)15+2x5-8= 1719) 7+6x5-5= 32|9)12+4x9-9= 39 g)15+2x5-8= 1710) 7+6x5-5= 32|9)12+4x9-9= 39
h)3x9+6-2= 31lh)10x7+10-7= 73|lh)11x8+4-3= 89 h)3x9+6-2= 31lh)10x7+10-7= 73|/h)11x8+4-3= 89
i)8x10-7x9= 17]i)8x3-5x1= 19]i)6x9-5x1= 49 i)8x10-7x9= 17]i)8x3-5x1= 19]i)6x9-5x1= 49
j)6x1+1x1= 71)7x10+10x 7= 140]j)7x6+2x5= 52 j)6x1+1x1= 71)7x10+10x 7= 140[j)7x6+2x5= 52




